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Cuadro 6 (continuación 5)/Table 6 (continued 5)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.026 0.025  100 000  2 530  97 789 0.971 b 6 732 057 67.3
1 4 0.002 0.010  97 470   945  387 777 0.993 c 6 634 268 68.1
5 5 0.000 0.002  96 525   234  482 039 0.997 6 246 491 64.7

10 5 0.001 0.003  96 291   279  480 757 0.991 5 764 452 59.9
15 5 0.003 0.014  96 012  1 390  476 585 0.981 5 283 695 55.0
20 5 0.005 0.025  94 622  2 322  467 304 0.975 4 807 110 50.8
25 5 0.005 0.025  92 300  2 265  455 835 0.976 4 339 806 47.0
30 5 0.005 0.023  90 034  2 069  444 999 0.976 3 883 971 43.1
35 5 0.005 0.025  87 965  2 165  434 413 0.975 3 438 972 39.1
40 5 0.005 0.025  85 800  2 133  423 667 0.974 3 004 559 35.0
45 5 0.006 0.028  83 667  2 319  412 537 0.967 2 580 892 30.8
50 5 0.008 0.038  81 348  3 104  398 979 0.952 2 168 354 26.7
55 5 0.012 0.058  78 244  4 532  379 888 0.930 1 769 375 22.6
60 5 0.017 0.082  73 712  6 060  353 407 0.895 1 389 487 18.9
65 5 0.028 0.131  67 651  8 829  316 184 0.843 1 036 080 15.3
70 5 0.041 0.188  58 822  11 066  266 446 0.772  719 896 12.2
75 5 0.064 0.276  47 756  13 199  205 783 0.661  453 450 9.5
80 5 0.108 0.425  34 557  14 680  136 084 0.523  247 668 7.2
85 5 0.162 0.566  19 877  11 260  71 234 0.405  111 584 5.6
90 5 0.208 0.662  8 617  5 704  28 824 0.318  40 350 4.7
95 5 0.257 0.742  2 913  2 160  9 164 0.205 d  11 526 4.0

100 ω 0.319 1.000   753   753  2 363  2 363 3.1
Mujeres/Females

0 1 0.019 0.019  100 000  1 900  98 327 0.978 b 7 484 720 74.8
1 4 0.002 0.008  98 100   803  390 553 0.994 c 7 386 394 75.3
5 5 0.000 0.002  97 297   204  485 972 0.998 6 995 840 71.9

10 5 0.000 0.002  97 092   170  485 038 0.998 6 509 868 67.0
15 5 0.001 0.003  96 923   305  483 851 0.996 6 024 830 62.2
20 5 0.001 0.004  96 618   412  482 058 0.995 5 540 979 57.3
25 5 0.001 0.005  96 206   463  479 870 0.995 5 058 921 52.6
30 5 0.001 0.006  95 742   549  477 339 0.993 4 579 051 47.8
35 5 0.002 0.008  95 193   733  474 135 0.991 4 101 712 43.1
40 5 0.002 0.011  94 461  1 008  469 783 0.987 3 627 577 38.4
45 5 0.003 0.016  93 452  1 484  463 552 0.980 3 157 794 33.8
50 5 0.005 0.025  91 968  2 298  454 097 0.967 2 694 243 29.3
55 5 0.008 0.040  89 671  3 621  439 300 0.950 2 240 146 25.0
60 5 0.012 0.060  86 050  5 179  417 300 0.922 1 800 845 20.9
65 5 0.020 0.097  80 870  7 819  384 804 0.878 1 383 546 17.1
70 5 0.032 0.149  73 051  10 893  338 023 0.814  998 742 13.7
75 5 0.051 0.229  62 158  14 216  275 250 0.713  660 719 10.6
80 5 0.088 0.362  47 942  17 360  196 310 0.584  385 469 8.0
85 5 0.135 0.501  30 582  15 317  114 619 0.455  189 159 6.2
90 5 0.194 0.634  15 266  9 683  52 120 0.339  74 540 4.9
95 5 0.252 0.734  5 582  4 098  17 667 0.212 d  22 420 4.0

100 ω 0.312 1.000  1 484  1 484  4 753  4 753 3.2

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


